MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA

COUNTY METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 372-6339

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/buildingcode

Andersen Corporation

100 Fourth Avenue North

Bayport, MN 55003

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control
Division and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and
other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product
Control Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve
the right to have this product or material tested for quality assurance purposes. If this product or material
fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ
may immediately revoke, modify, or suspend the use of such product or material within their jurisdiction.
BORA reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product
Control Division that this product or material fails to meet the requirements of the applicable building code.
This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: 4-9/16” & 6-9/16” Laminated Veneered Lumber (LVL) Clipped Wood Mullion — L.M.1.

APPROVAL DOCUMENT: Drawing No. M05-01, titled “Laminated Veneered Lumber Mullion System”
Sheets 1 through 12 of 12, dated 08/15/05 with revision A dated 04/16/10, prepared by Al-Farooq
Corporation, signed and sealed by Javad Ahmad, P.E., bearing the Miami-Dade County Product Control
Revision stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County
Product Control Division. '

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERM]NATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement
of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 07-1025.08 and consists of this page 1 and Evidence page E-1, as well as
approval document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

P—— NOA No. 10-0616.01
FDAD) Expiration-Date: December 20, 2012
| APPROVED | ’

Approval Date: September 01, 2010
Page 1



Andersen Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No. M05-01, titled “Laminated Veneered Lumber Mullion System” Sheets 1
through 12 of 12, dated 08/15/05 with revision A dated 04/16/10, prepared by Al-
Farooq Corporation, signed and sealed by Javad Ahmad, P.E.

B. TESTS
1. Test reports on: 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of six LVL structural mulled
assemblies,(per Testing Proposal #06-0072), prepared by Architectural Testing, Inc.
Test Report No. ATI-65617.01-201-18, dated 11/29/06, signed and sealed by Joseph
A.Reed, P.E.
(Submitted under previous NOA #07-1025.08)

C. CALCULATIONS
1. Anchor verification calculations and structural analysis, complying with FBC-2007,
dated 04/09/10, prepared, signed and sealed by Javad Ahmad, P.E.

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS
1. Statement letter of conformance and no financial interest, dated April 13, 2010, signed
and sealed by Javad Ahmad, P.E.

G. OTHERS
1. Notice of Acceptance No. 07-1025.08, issued to Andersen Corporation for their
Laminated Veneered Lumber (LVL) Clipped Wood Mullion System — L.M.L,
approved on 12/20/07 and expiring on 12/20/12.

NOA No. 10-0616.01
Expiration Date: December 20, 2012
Approval Date: September 01, 2010



ACCEPTABLE
MULLION SPAN
1]
HORIZONTAL
MULLION
) ANDERSEN CORP. ANDE)ZSEN CORP.
< WINDOW WDOW
MULTIPLE MODULES S SEE SEPARATE NOA SEE SEPARATE NOA
ACCEPTABLE ya 4 -/
ye . .
S s Y
// "/ //
~ VERTICAL
MULLION >
Z VERTICAL g
MULLION N
Zz
o
-
)
Vs S /. Vs S S, g s
77 s/ s/ z > 4 s/ s/ 7/
-/ L L S1E: % % % g
S S /s s (D;, Y Yy Y s
// // // z // // // //
ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP. ANDERSEN CORP.
WINDOW,/DOOR WINDOW /DOOR WINDOW,//DOOR WINDOW /DOOR WINDOW /DOOR
SEE SEPARATE NOA SEE SEPARATE NOA SEE SEPARATE NOA SEE SEPARATE NOA SEE SEPARATE NOA

MULTIPLE MODULES

MULLION SPAN

HORIZONTAL
MULLION

— VERTICAL
MULLIOY,

</

ANDER%?I CORP.

wi W
SEE SEP&TE NO

ANDERSEN CORP.
WINDOW/DOOR
SEE SEPARATE NOA

7 VERTICAL
MULLION

Vs

s/
//(

s

%

ANDERSEN CORP.
WINDOW/DOOR
SEE SEPARATE NOA

LAMINATED VENEERED LUMBER (LVL) MULLION SYSTEM
WINDOW FRAME MEMBERS INCLUDED IN PROPERTIES

DESIGN LOAD RATING FOR THIS MULLION TO BE AS PER CHARTS
SHOWN ON SHEETS 5 AND 6.

APPROVAL APPLIES TO MULLIONS COMBINATIONS WITH FRAME MEMBERS OF
ANDERSEN CORPORATION WINDOW AND DOORS IN ANY COMBINATIONS

SEE SHEET 2 FOR WINDOW FRAME MEMBER DETAILS.

SEE SHEET 3 FOR DOOR FRAME MEMBER DETAILS.

SEE SEPARATE NOA FOR WINDOW/DOOR ANCHORS AND DESIGN LOAD CAPACITY.

LOWEST VALUE RESULTING FROM MULLION, WINDOW OR DOOR APPROVAL
WILL APPLY TO ENTIRE SYSTEM.

THIS PRODUCT HAS BEEN DESIGNED AND TESTED TO COMPLY WITH THE
REQUIREMENTS OF THE FLORIDA BUILDING CODE 2007 EDITION INCLUDING
HIGH VELOCITY HURRICANE ZONE (HVHZ).

ALL GLAZING PRODUCTS USED WITH THESE MULLIONS MUST MEET THE
APPLICABLE BUILDING CODE REQUIREMENTS 1.E: WIND LOAD, WATER
INFILTRATION, FORCED ENTRY RESISTANCE, SAFEGUARDS ETC.

WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO TRANSFER
LOADS TO THE STRUCTURE.

ANCHORS SHALL BE AS LISTED, SPACED AS SHOWN ON DETAILS, EMBEDMENT
TO BASE MATERIAL SHALL BE BEYOND WALL COVERING (STUCCO, TILE ETC.).

ANCHORING CONDITIONS OTHER THAN THOSE SHOWN IN THESE DETAILS
ARE NOT PART OF THIS APPROVAL.

A LOAD DURATION INCREASE IS USED IN DESIGN OF ANCHORS INTO WOOD ONLY.

MATERIALS INCLUDING BUT NOT LIMITED TO STEEL/METAL SCREWS, THAT COME INTO
CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL MEET THE REQUIREMENTS
OF 2007 FLORIDA BLDG. CODE SECTION 2003.8.4.

TYPICAL MULLION ARRANGEMENT

INDEX OF DRAWING

SHEET

NO. DESCRIPTION

1

GENERAL NOTES

WINDOW FRAME DETAILS

DOOR FRAME DETAILS

MULLION DETAILS

|isiiN

CHART FOR 4-9/16" & 6—-9/16" MULLIONS WITHOUT HORIZONTALS

6

CHART FOR 4-9/16" & 6-9/16" MULLIONS WITH HORIZONTALS

7 THRU 10| DETAILS SHOWS VERTICAL AND HORIZONTAL MULLION CONNECTION

WITH FRAME MEMBERS.

11

HORIZ./VERT. MULLION CONNECTION DETAILS WITH BRACKET

15

VERT. MULLION CONNECTION DETAIL TO HORIZ. MULLION

MULLION SPAN

HORIZONTAL
MULLION

ANP;S&E&()&ORP.

SEE SEPARATE NOA

ANDERSEN CORP.
WINDOW/DOOR
SEE SEPARATE NOA

——> VERTICAL

MULLION

Sy
7/
,/,
Vs
//

ANDERSEN CORP.

WINDOW /DOOR

SEE SEPARATE NOA

-~ VERTICAL

MULLION

ANDERSEN CORP.
WINDOW/DOOR
SEE SEPARATE NOA

f
C

MULLION\MO5-01AC )

N

L

|

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

|

ANDERSEN CORPORATION

100 FOURTH AVE. NORTH

BAYPORT, MN. 55003—1096
FAX (-}

TEL. (800) 426-7631

NDERSEN
W
®

[LAMINATED VENEERED LUMBER MULLION SYSTEM]

A

)

UPDATED TO 2007 FBC

by [description

(revisions:
(nol date
A 104.16.10

MULLION SYSTEM IS RATED FOR LARGE & SMALL MISSILE IMPACT.
AND CAN BE USED WITH ALL MIAMI-DADE COUNTY APPROVED
IMPACT AND NON-IMPACT RESISTANT PRODUCTS.

Engr: JAVAD AHMAD
{

FLA%A{

0592
3538

f;’wi’e Prodect C@ﬁ%

|

08-15-05

scale: 3/8"=1'-0Q"

date:

drawing no.

MO5-01




J P 3.334 !

3.334
=-1.115 1.3754>! b~ 1.115 1.375
1 1

.658 2.942

L
569 L] I:]
j 1.359 F —U 6456 — .a?n | | 1.355
l -6?6 | 438 {"*‘—l
! ‘ J !
!_ 2 344 2.771 | 2.771 | 4.125
CASEMENT AWNING TILT-WASH DOUBLE HUNG WOODWRIGHT DQUBLE HUNG SPECIALITY DIRECT SET (CTC & CTQC)
FRAME HEAD/SILL FRAME JAMB FRAME HEAD FRAME HEAD/JAMB FRAME SILL
30835 30836 - - 27230
WOOD wOoD WOOD WOOD WOOD
4125 . 3.196 '
- 3.334 ' 812
L 2.250 7 r.gag }»1.1 150' ]‘_ 1‘37542' 7061;87;]»
.406 P ? <=1 -
T 1.109 656
: P ; i — 1.500
|y l
_| L 2.771 —J '7?()
844 | 2.344 |
3.352
CASEMENT AWNING TILT-WASH DOUBLE HUNG TILT-WASH FIXED WOODWRIGHT FIXED SPECIALITY DIRECT SET (CTN)
FRAME JAMB FRAME HEAD/SILL FRAME JAMB FRAME HEAD/SILL/JAMB FRAME HEAD/SILL /JAMB FRAM ILL
30838 30838 - - - 27122
WOOD WOOD ele)s) WOOD WOOD WwOOD
' 3.727 |
' 2.942 .966
I 3.797 ‘ r o] 1.oao«=‘ )
719 E 1.360 1294 g4 1.391 — 1.425
. 811 :
| ] | o = | | ”
L 3.844 i 4.125 2.500‘—"‘ 4.007
PSNL CASEMENT PICTURE FLEXIFRAME FIXED SPECIALITY DIRECT SET (ET)
FRAME HEAD/SILL /JAMB FRAME HEAD/SILL/JAMB FRAME HEAD/SILL/JAMB FRAME SILL
- - - 53103
WOOoD WOOD WOOD WOOD

? I 1.336
.797
-

I 2.939

; 4.121 |

CASEMENT PICTURE (P)
FRAME HEAD/SILL/JAMB

30334
WOO0D

Engr: JAVAD AHMAD
CiviL
FLA. PE # 70592

CAN{:%%\%

°f
<

MULLION\M05-01AC )

a
|
\

FAX. (305) 2626978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMLI, FLORIDA 33174

TEL. (305) 264-8100

(

J

FAX (-)

ANDERSEN CORPORATION

|

100 FOURTH AVE. NORTH
BAYPORT, MN. 55003-1096

TEL. (800) 426-7691

N

®

NDERSE

(LAMINATED VENEERED LUMBER MULLION SYSTEM]

|

|

NO CHANGE THIS SHEET

by description

A [04.16.10

(revisions:
nol date

|

)

08-15-05

=)
=
<
T
%
Fe)
[y
-]

dote:

drawing no.

M0O5-01

[




5.794

‘ 2.655 4.193
F—1.373
‘Q{ ] 2.655
929 1.230 .988 f r\’ \ l
$ H J] m} é 1.185 ”1’5

445 2.693 4.224 FL_jP

2.331 i

FWG FWH FWO
GLIDING DOOR FRAME HEAD HINGED DOQOR HEAD/JAMB (OPERATING/STATIONARY) QUTSWING DOOR HEAD/JAMB (OPERATING/STATIONARY)

~ 52253 57019

WOOD WOOD WOOD

1.629 2.087
1 (O Vel
567 [SES7 T
{ N
080 1.197
1.359 8 085
A\ s—z/_l/ 673 7
3.979 to—1.564 —=+=—1.349

FWH FWO
HINGED HEAD/JAMB COVER (OPERATING/STATIONARY) QUTSWING HEAD/JAMB COVER (OPERATING/STATIONARY)

52225 57031

FIBERGLASS FIBERGLASS

Engr: JAVAD AHMAD

FLA. PE # 70592
C.AN. 3538

a)

LEC. 20,2012

f
C

MULLION\MO5-01AC )

a |

|
[
|

FAX. (305) 262-6978 |\_

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE

MIAMI, FLORIDA 33174
TEL. (305) 264-8100

|

M (-)

ANDERSEN CORPORATION

|

100 FOURTH AVE. NORTH
BAYPORT, MN. 55003-1096

TEL. (B00) 426-7691

N

W
®

NDERSE

(LAMINATED VENEERED LUMBER MULLION SYSTEM

A

)

NO CHANGE THIS SHEET

by [ description

(revisions:
nol date
A |04.16.10

|

08-15~05

Q
=2
<
T
>
a

date:

drawing no.

M0O5-01




5.275

i <'v*v‘2‘735————~'>1|

.558 [

7 L
!‘ 2.540

4-9/16" MULLION

LAMINATED VENEERED LUMBER

N

.750

L

7.250

.558

; 4.515

6-9/16" MULLION

LAMINATED VENEERED LUMBER

i

.750

L

GEO——_F:} .7:50 1.140

MULLION_COVER

ALUMINUM

5.275
LI G 7
626 .750
1 o §
L—4.21O
4-9/16" MULLION
29353
LAMINATED VENEERED LUMBER
i‘, 7.250
1.065@‘
L 7
626 C 750
I 1
1— 6.185 J
6-9/16" MULLION
29434
LAMINATED VENEERED LUMBER
Fe—1.454 —=
060
9 i T
N &3 980

|

<——l.514“J

MULLION COVER
29351
ALUMINUM

Fe—1.544

I

.060—9 ¢

MULLION COVER

29351
ALUMINUM

= |
.7:':50 E:) —1.'110

Engr: JAVAD AHMAD
CivIL
FLA. PE # 70592

b v

TN
O
N O Bl
o
(1] '
[Tg]
— s
@
z 22
95 @S
=ud 33
<E Nis
14 S &
og ¢
I %
o w
06 ¢
03 o
o]
Oruos
00.<g-1
025z 3
zm'gﬂ
<u.|;,u.@
u_"'"(ﬂ_'o
rZpns @
S 885
. i i
| N N
. D
N
2lz
NiI= ©
HhlE &
é:o
= = —
21081 %
—'mZox
2T o &
O wwn
rlo=w _
faa] < .5
S =1
j
oW e 8
ol s -~
Dioox —~
ElWe O 8
w || a
] O <€ -
>|<C—oO ¥
S =
=3 ®
g w
=
\ -

|

)

NO CHANGE THIS SHEET

by description

no| date
A |04.16.10

(revisions:

08~15-05

dr. by: HaMID

(dote:

M0O5-0

|

S - Ty
drawing no.

chk. by:

1

~—
sheet 4 of 12




—
DESIGN LOAD CAPACITY - PSF DESIGN LOAD CAPACITY - PSF DESIGN LOAD CAPACITY - PSF [ Q€
4-9/16" MULLION 6-9/16" MULLION 6-9/16" MULLION Y o
W/0 INTERMEDIATE HORIZONTALS W/0 INTERMEDIATE HORIZONTALS W/0 INTERMEDIATE HORIZONTALS v w8
WINDOW DIMS. | GRrOUP | GROUP | GROUP | GROUP 2 WINDOW DIMS. I GROUP | GROUP | GROUP | GROUP | GROUP WINDOW DIMS. | GRrouP | GROUP | GROUP | GROUP | GROUP ||| Z 2 ;
WIDTH (W) [MULL SPAN]  #1 #2 #3 #4 Z I 7 1 WIDTH (W) [MULL SPAN]| #5 #6 #7 #8 #9 WIDTH (W) [MULL SPAN] #5 46 #7 #8 #9 (o IS e
30" 700 | 700 | 70.0 | 70.0 7 7 7 8 24" 700 | 700 | 700 | 700 | 700 24" 66.9 | 700 | 700 | 700 | 70.0 =g g3
36" 700 | 700 | 700 | 70.0 = 30" 700 | 700 | 700 | 700 | 70.0 30" 541 | 619 | 626 | 626 | 62.6 é § EN; =
42" 700 | 700 | 700 | 70.0 = 36" 700 | 700 | 700 | 700 | 700 36" 102" 456 | 510 | 510 | 510 | 51.0 o 8
48" 700 | 700 | 700 | 70.0 40" 700 | 700 | 700 | 700 | 70.0 40" 415 | 452 | 452 | 452 | 452 Lo %
51-3/8" 48" 700 | 700 | 700 | 700 42" 60" 700 | 700 | 700 | 700 | 700 42" 397 | 428 | 428 | 428 | 428 g - ¢ “
54" 700 | 700 | 700 | 70.0 Wi w2 48 700 | 700 | 700 | 700 | 70.0 24" 506 | 682 | 700 | 700 | 700 0 § e
60" 700 | 700 | 700 | 70.0 54 700 | 700 | 700 | 700 | 700 30" 108" 481 | 550 | 562 | 562 | 56.2 ooy o g
66" 700 | 700 | 700 | 70.0 60" 700 | 700 | 700 | 700 | 700 36" 405 | 458 | 458 | 458 | 458 Oo<gd
72" 700 | 700 | 700 | 70.0 1 66" 640 | 640 | 640 | 640 | 64.0 40" 368 | 40.7 | 407 | 40.7 | 40.7 g 3 Sg §
30" 700 | 700 | 700 | 70.0 i 72" 587 | 58.7 | 58.7 | 58.7 | 58.7 < b 27 %
36" 700 | 700 | 700 | 70.0 247 700 | 700 | 700 | 700 | 70.0 L Z gg 8
42" 700 | 700 | 700 | 700 30" 700 | 700 | 700 | 700 | 700 L ER
48" 70.0 70.0 70.0 70.0 x5 = 36" 70.0 70.0 70.0 70.0 70.0 Lunzk \J
51-3/8" 54" 700 | 700 | 700 | 700 40" 66" 700 | 700 | 700 | 700 | 70.0 f?:
54 700 | 700 | 700 | 700 42" 700 | 700 | 700 | 700 | 70.0 b %
60" 68.0 | 680 | 68.0 | 68.0 48" 700 | 700 | 700 | 700 | 700 SIE g
66" 618 | 618 | 618 | 61.8 e g 54" 700 | 700 | 700 | 700 | 70.0 z D ES
72" 56.7 | 56.7 | 56.7 | 56.7 60" 642 | 642 | 642 | 642 | 642 % 8 o4
30" 700 | 700 | 700 | 70.0 24" 700 | 700 | 700 | 700 | 700 2“8z
36" 700 | 700 | 700 | 70.0 WULLION SPAN 30" 700 | 700 | 700 | 700 | 70.0 o« 8 :ﬁ: 0 _
42" 700 | 700 | 700 | 700 36" 700 | 700 | 700 | 700 | 700 Slzrz8
48" 700 | 700 | 70.0 | 70.0 40" 279" 700 | 700 | 700 | 700 | 700 =R TR
51-3/8" 60" 650 | 650 | 650 | 650 42" 700 | 700 | 700 | 700 | 700 2 & 3k =
54" 61.5 61.5 61.5 61.5 WIDTH (W) = Mt W2 48" 69.9 69.9 69.9 69.9 69.9 é HL“ 8 ;%,
60" 55.1 | 551 | 551 | 551 2 54" 61.1 | 61.1 | 61.1 | 61.1 | 61.1 S % g ;EJ g
66" 501 | 50.1 | 50.1 | s0.1 60" 543 | 54.3 | 543 | 543 | 543 o=
72" 459 | 459 | 459 | 459 24" 700 | 700 | 700 | 700 | 700 A ®
30” 700 | 700 | 700 | 70.0 30 700 | 700 | 700 | 700 | 700 £ =
36" 67.4 | 700 | 700 | 70.0 36" 700 | 700 | 700 | 700 | 700 S
42" 60.1 | 682 | 682 | 68.2 40" 78" 700 | 700 | 700 | 700 | 70.0 e —
48" 66" 553 | 58.6 | 58.6 | 58.6 42" 700 | 700 | 700 | 700 | 700
51-3/8" 53.4 | 542 | 542 | 54.2 48" 60.3 | 60.3 | 603 | 60.3 | 60.3
54" 51.3 | 513 | 51.3 | 51.3 54" 526 | 526 | 52.6 | 526 | 52.6 g
60" 457 | 457 | 457 | 457 24" 700 | 700 | 700 | 700 | 70.0 c %
30" 650 | 70.0 | 700 | 70.0 30" 700 | 700 | 700 | 700 | 70.0 1210
36" 55.6 | 63.3 | 69.4 | 69.4 36" . 68.6 | 70.0 | 700 | 700 | 70.0 ola
42" 493 | s6.1 | 581 | s8.1 40" 8¢ 62.7 | 649 | 649 | 649 | 649 @ 3
48" 72 449 | 498 | 498 | 498 42" 602 | 61.3 | 61.3 | 61.3 | 61.3 2=
51-3/8" 431 | 461 | 461 | 461 48" 526 | 526 | 52.6 | 526 | 52.6 B
54" 419 | 436 | 436 | 436 24" 700 | 700 | 700 | 700 | 700 dlgS
60" 387 | 387 | 387 | 387 30" 700 | 700 | 700 | 700 | 70.0 alels
30" 549 | 625 | 700 | 70.0 36" . 59.3 | 64.4 | 644 | 644 | 64.4 e -
36" 468 | 532 | 59.9 | 599 40" %0 541 | 571 | 571 | 571 | 571 :&C—::_*‘:J
42" - 412 | 469 | 501 | 50.1 42" 51.9 | 540 | 54.0 | 540 | 54.0 0
48" 37.3 425 43.0 43.0 48" 46.3 46.3 46.3 46.3 46.3 Engr: JAVAD AHMAD b =]
51-3/8" 356 | 397 | 397 | 397 24" 700 | 700 | 700 | 700 | 700 FLA. PE f 70592 3 E:
54" 34.5 375 375 | 375 30" 61.2 700 | 70.0 70.0 70.0 C.AN. 35%@ ) 512
30" 47.0 | 535 | 642 | 64.2 36" - 518 | 571 | 571 | 571 | 57.1 Nﬁ\(\ 94 0 3 EJE}
36 399 | 454 | 522 | 522 40" 471 | 506 | 50.6 | 50.6 | 50.6 /4 R ————
42" 84" 35.0 39.9 43.7 43.7 42" 45.2 47.9 47.9 47.9 47.9 - / drawing  no.
48" 315 | 359 | 375 | 375 45" 422 | 447 | 447 | 447 | 447 MO5-01
51-3/8" 300 | 341 | 346 | 346 )
(sheet 5 of 12




DESIGN LOAD CAPACITY - PSF
4-9/16" MULLION
WITH INTERMEDIATE HORIZONTALS
WINDOW DIMS. | GROUP | GROUP | GROUP | GROUP
WIDTH (W) [MULL SPAN| #1 #2 #3 #4
30" 700 { 700 | 700 | 70.0
36" 700 | 700 | 700 | 700
42" 700 | 700 | 700 | 700
48" 700 | 700 | 700 | 700
51-3/8" 48 700 | 700 | 700 | 700
54" 700 | 700 | 700 | 700
60" 69.0 | 700 | 700 | 700
66" 62.7 | 700 | 70.0 | 70.0
72" 575 | 654 | 700 | 70.0
30" 700 | 700 | 700 | 70.0
36" 700 | 700 | 700 | 70.0
42" 700 | 700 | 700 | 70.0
48" 68.1 | 700 | 700 | 70.0
51-3/8" 54" 63.7 | 700 | 700 | 70.0
54" 606 | 689 | 700 | 70.0
60" 545 | 620 | 700 | 70.0
66" 496 | 564 | 700 | 70.0
72" 454 | 517 | 648 | 652
30" 700 | 700 | 700 | 70.0
36" 700 | 700 | 700 | 700
42" 631 | 700 | 700 | 700
48" 55.2 | 62.8 | 700 | 70.0
51-3/8" 60" 516 | 587 | 700 | 700
54" 49.1 | 558 | 700 | 70.0
60" 442 | 503 | 630 | 700
66" 401 | 457 | 572 | 64.0
72" 38 | 41.9 | 525 | 587
30" 700 | 700 | 700 | 700
36" 608 | 69.2 | 700 | 700
42" 521 | 59.3 | 700 | 70.0
48" 66" 456 | 519 | 650 | 700
51-3/8" 426 | 485 | 60.8 | 700
54" 405 | 462 | 578 | 67.5
60" %5 | 415 | 520 | 60.7
30" 61.3 | 69.8 | 700 | 70.0
36" 511 | 582 | 700 | 70.0
42" 438 | 499 | 625 | 700
48" 72" 383 | 436 | 547 | 638
51-3/8" 358 | 408 | s51.1 | 596
54" 341 | 388 | 486 | 56.7
60" 307 | 349 | 437 | s1.0
30" 52.3 | 59.5 | 700 | 70.0
36" 435 | 496 | 621 | 70.0
42" o, 373 | 425 | s32 | 62.1
48" 327 | 372 | 466 | 543
51-3/8" 305 | 347 | 435 | 508
54" 290 | 330 | 414 | 483
30" 451 | 513 | 643 | 700
36" 375 | 427 | 535 | 606
42" 84" 322 | 366 | 459 | 51.9
48" 282 | 321 | 402 | 454
51-3/8" 263 | 299 | 375 | 424

/s Yea e
7/ 7,0 7/
7 o
{/ (/ (/
<«
a
%]
4
L o
% 2 9 3
: o ; 3
7 7 7 3
7 - 7 =
W1 W2

MULLION SPAN

f
<

a

e 7, P
7 4 4
P / 2
{/ /e {/ N
2 2 ;
}
¥
(a2 Im A
it m{ GLrn z
2000 LLuh ~
=

MULLION SPAN

WIDTH (W) =

W1+ w2 |

DESIGN LOAD CAPACITY - PSF DESIGN LOAD CAPACITY - PSF
6-9/16" MULLION 6-9/16" MULLION
WITH INTERMEDIATE HORIZONTALS WITH INTERMEDIATE HORIZONTALS
WINDOW DIMS. | GROUP | GROUP | GROUP | GROUP | GROUP WINDOW DIMS. | GROUP | GROUP | GROUP | GROUP | GROUP
WIDTH (W) |MULL SPAN #5 #6 #7 #8 #9 WIDTH (W) [MULL SPAN #5 #6 #7 #8 #9

24" 700 | 700 | 700 | 700 | 700 24 657 | 700 | 700 [ 700 | 700
30" 700 | 700 | 700 | 700 | 70.0 30" 52.5 | 60.1 | 663 | 700 | 700
36" 700 | 700 | 700 | 700 | 70.0 36" 102 | 438 | 501 | 552 | 59.4 | 594
40" 700 | 700 | 700 | 700 | 70.0 40" 39.4 | 451 | 497 | 535 | s35
42" 60" 700 | 700 | 700 | 700 | 700 42" 37.5 | 429 | 473 | 509 | 509
48" 700 | 700 | 700 | 700 | 700 24" 58.6 | 67.0 | 700 | 700 | 70.0
547 700 | 700 | 700 | 700 | 70.0 30" g | 468 | 936 | so1 | 625 | 625
60" 700 | 700 | 700 | 700 | 70.0 36" 39.0 | 447 | 493 | 521 | 521
66" 640 | 640 | 640 | 640 | 64.0 40" 351 | 402 | 443 | 469 | 4639
72" 58.7 - - - -
24 70.0 | 700 | 700 | 700 | 70.0
30" 70.0 | 700 | 700 | 700 | 70.0
36" 700 | 700 | 700 | 700 | 70.0
40" 66" 700 | 700 | 700 | 700 | 700
42" 700 | 700 | 700 | 700 | 70.0
48" 70.0 | 700 | 700 | 700 | 70.0
547 69.7 | 700 | 700 | 700 | 70.0
60" 62.7 | 64.0 | 640 | 640 | 64.0
24" 700 | 700 | 700 | 700 | 70.0
30" 70.0 | 700 | 700 | 700 | 70.0
36" 700 | 700 | 700 | 700 | 700
40" _— 700 | 700 | 700 | 700 | 700
42" 700 | 700 | 700 | 700 | 700
48" 659 | 700 | 700 | 700 | 700
54" 58.6 | 652 | 652 | 652 | 652
60" 527 | 587 | 587 | - -
24" 700 | 700 | 700 | 700 [ 70.0
30" 70.0 | 700 | 700 | 700 | 70.0
36" 700 | 700 | 700 | 700 | 700
40" 78" | 674 | 700 | 700 | 700 | 700
42" 642 | 700 | 700 | 700 | 700
48" s6.1 | 643 | 677 | 677 | 677
54" 499 | 571 | 60.2 | 60.2 -
24" 700 | 700 | 700 | 700 | 700
30" 700 | 700 | 700 | 700 | 70.0
36" , 645 | 700 | 700 | 700 | 700
40" 5 58.1 | 665 | 700 | 700 | 700
a2 553 | 633 | 69.8 | 700 | 70.0
48" 48.4 | 554 | 611 | 629 | 629
247 700 | 700 | 700 | 700 | 700
30" 67.5 | 700 | 700 | 700 | 700
36" . 562 | 644 | 700 | 700 | 700
40" %0 506 | 579 | 638 | 687 | 687
42" 48.2 | 552 | 60.8 | 654 | 654
48" 422 | 483 | 532 | 572 | 572 Emar JAVAD  ATAD B
247 700 | 700 | 700 | 700 | 700 Fa, Pey 70592 vith e Flarids
307 5.3 | 67.9 | 700 | 700 | 70.0 CAN. 3538
36" 96" 494 | 566 | 623 | 67.0 | 67.1 9, 4 100
40" 445 | 509 | 56.1 | 60.3 | 60.4
42" 42.4 | 485 | 534 | 575 | 575
45" 396 | 453 | 49.8 | 536 | 536

MULLION\MO5-01AC |

FAX. (305) 2626978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

|

FAX (-)

BAYPORT, MN. 55003-1096
(800) 426-7691

ANDERSEN CORPORATION
100 FOURTH AVE. NORTH

(TEL

®

[LAMINATED VENEERED LUMBER MULLION SYSTEM]
NDERSEN

A

|

)

(&)
m
[T
™~
o
o &
o
Bl
ole
0| <
o2
| >
>
Tal
0 =)
cil®
fe? | (O
Ollo| ~
2io/g
vjfo] ¢
\JNE y
G —
2]
o
i
i'2)
i
@©
o .
P
L0
8 p
S S
C ___—_——— —
T T
drawing no.

sheet 6 of 12




#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL

AND 16" 0.C. MAX.

|

6-9/16" MULUONJ

CASEMENT TO CASEMENT

4~-9/16" MULLION

AWNING TO AWNING

VERTICAL JOIN

HORIZONTAL JOIN

MULLION TYPE | GROUP NO.
4-9/16" 3
6-9/16" 7

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL

AND 16" 0.C. MAX,

b e

5

6-9/16" MUI_LIONJ

4-9/16" MULLION

FLEXIFRAME _TO FLEXIFRAME

VERTICAL OR HORIZONTAL JOIN

MULLION TYPE|GROUP NO.
4-9/16" 2
6-9/16" 5

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL

AND 16" 0.C. MAX.

FLEXIFRAME TO CIRCLE TOP/QUARTER

6-9/16" MULLION-

4-9/16" MULLION

MULLION TYPE |GROUP NO.

4-9/16" 2

VERTICAL OR HORIZONTAL JOIN

6-9/16" 6

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/S!LL
AND 18" 0.C. MAX.

= e— A

1

—

¢

6-9/16" MULLIONJ

4-9/16" MULLION

CASEMENT TO AWNING

VERTICAL OR HORIZONTAL JOIN

MULLION TYPE|GROUP NO.

4-9/16" 3

6-9/16" 7

#10 X 2-1/2" SCREWS

AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

CASEMENT TQO FLEXIFRAME

HORIZONTAL JOIN

6~9/16" MULLION<|

4-9/16" MULLION

AWNING TO FLEXIFRAME
VERTICAL JOIN

MULLION TYPE|GROUP NO.
4-9/16" 2
6-9/16" 6

SEE SHEET 9 FOR ‘I’ VALUES OF VARIOUS GROUPS

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

? o

e 1/
7

CASEMENT TO CASEMENT

6-9/16" MULLION‘I

4-9/16" MULLION

AWNING TO AWNING

HORIZONTAL JOIN

VERTICAL JOIN

MULLION TYPE|GROUP NO.
4-9/16" 3
6-9/16" 7

#10 X 2-1/2" SCREWS

AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

!

/

l =

/_‘/Lh # 6-9/16" MULLION“

CASEMENT TQ FLEXIFRAME

4-9/16" MULLION

AWNING TQ_FLEXIFRAME

VERTICAL JOIN

HORIZONTAL JOIN

MULLION TYPE|GROUP NO.

4-9/16"

2

6-9/16"

6

Engr: JAVAD AHMAD
Civil.
FLA. PE # 7Q592

e TED

)
é!

f
C

—01Aé]

a

-

|
|
i

MULLION\M0S

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

|

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

|

ANDERSEN CORPORATION

100 FOURTH AVE. NORTH

BAYPORT, MN. 55003-1096
FAX (-)

TEL. (800) 426-7691

®

ANDERSEN‘

[LAMINATED VENEERED LUMBER MULLION SYSTEM

|

)

NO CHANGE THIS SHEET

by[description

(revisions:
ol date

0&-1505JU

date:

drawing no.

M05-01"

sheet 7 of 12;




6-9/16" MULLION _\

4-9/16" MULLION

#10 X 2-1/2" SCR

EWS

AT 5" FROM HEAD/SILL

AND 16" 0.C. MAX.

MULLION TYPE GROUP NO.
4-9/16" 1
6-9/16" 8

400 TWDH WDW TQ 400 TWDH WDW

VERTICAL JOIN

400 TWDH WDW TO 400 TWDH PICTURE WDW

6—9/16" MULLION

4-9/16" MULLION v

VERTICAL JOIN

#10 X 2—-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL

AND 16" 0.C. MAX.

- M
GROUP_NO. P

i

MULLION TYPE
4-9/16" 3
6-9/16" 7

MULLION TYPE |GROUP NO.
4-9/16" 1
6-9/16" 8

PSNL WDW TO 400 TWDH PICTURE WDW

VERTICAL JOIN

6-9/16" MULLION\ N

4-9/16" MULLION .

CIRCLE TOP TO

AWNING

HORIZONTAL JOIN

6-9/16" MULLIONJ

L4—9/16" MULLION

LSEE SHEET 9 FOR ‘I’ VALUES OF VARIOUS GROUPS]

AT 5" F

#10 X 2-1/2" SCREWS

ROM HEAD/SILL

AND 16" 0.C. MAX.

MULLION TYPE|GROUP NO.

4-9/16"

1

6-9/16"

9

PSNL _WDW TO PSNL WDW

VERTICAL JOIN

- C
T

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

&;ﬁ;%;;

MULLION TYPE|GRQUP NQ.

4-9/16" 3

6-9/16" 7

6-9/186" MULL!ONAl

4-9/16" MULLION

CIRCLE TOP TQ CASEMENT

HORIZONTAL JOIN

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

b

MULLION TYPE | GROUP NO.

4-9/16"

3

6-9/16"

5

CASMT PICTURE WDW.

TO _AWNING

6-9/16" MULUONJ

4-9/16" MULLION

CASMT PICTURE WDW. TO CASEMENT

VERTICAL JOIN

= s

HORIZONTAL JOIN

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

,’?’

MULLION TYPEIGROUP NO.
4-9/16" 3
6-9/16" 5

CASMT PICTURE WDW. TQ AWNING

6-9/16" MULLIONJ

4-9/16" MULLION

CASMT_PICTURE WDW. TO CASEMENT

HORIZONTAL JOIN

Engr: JAVAD AHMAD
CivIL
FLA. PE # 70592
C.AN. 3538

VERTICAL JOIN

a
C
MULLION\MO5—01AC )

FAX. (305) 262-6978

AL-FAROOQ CORPORATION

ENGINEERS & PRODUCT DEVELOPMENT

1235 S.W. 87 AVE
MIAMI, FLORIDA 33174

TEL. (305) 264-8100

|

ANDERSEN CORPORATION

100 FOURTH AVE. NORTH

BAYPORT, MN. 55003-1096
FAX (-)

TEL. (800) 426-7691

®

=
5]
w
3
I~
a
-4

[LAMINATED VENEERED LUMBER MULLION SYSTEM |

A

|

)

NO CHANGE THIS SHEET

by [description

A |04.16.10

(revisions;
(no] date

08-15-05

date:

drawing m
MO5-01

sheet 8 of ng




—
(@]
H_U p
7
#10 X 2-1/2" SCREWS #10 X 2-1/2" SCREWS #10 X 2-1/2" SCREWS AT )
AT 5" FROM HEAD/SILL AT 5" FROM HEAD/SILL AT 5" FROM HEAD/SILL 0|2
/AND 16" 0.C. MAX. AND 16" 0.C. MAX. AND 16" 0.C. MAX. Z ~ (g
; 7T 777 0r 85
/ N
v / /) / 1/, EE1E
. // / / // q o o=
v / . / 14 9 8
i) —— e o] u e
/A f . L , L3 o}
| o 'y
) - | | ! ! o5
| , 0z o
: OQuwmo
0fzgd
6-~9/16" MULLION 6-9/16" MULLION 6-9/16" MULLION O In a) 3
" . " o0&
- 4-9/16" MULLION |- 4-9/16" MULLION L 4-9/16" MULLION EL.o&
o w ; T
w % [/ 8
295 0
PSNL_TO CIRCLE TOP—NL 400 TW TO CIRCLE TOP~NL 400 TW TQ TW TRANSOM -:I ggs J
HORIZONTAL JOIN HORIZONTAL JOIN HORIZONTAL JOIN Lins ¥
~
MULLION TYPE|GROUP_NO. MULLION TYPE[GROQUP NO. MULLION TYPE [GROUP_NO. T
4-9/16" 1 4-9/16" 1 4-9/16" 1 ==
6-9/16 8 6-9/16" 9 6-9/16" 6 o Z
w9 4
hlE _o
é TO
=z = -
Slox | 7
28 %
2 o5&
O w Q2
HlozY -
[aa] .
= [y R
. ™~
283k 2
VALUES USED ALUMINUM | WOOD+MULL | WOOD+MULL TOTAL ‘I' IN el L? o 8
GROUP COVER 4-9/16" 6-9/16" |TERMS OF WOOD = % o C>E z
X - wJ O <«
| Ix IN"4 0.0655 12,2451 197489 LIg25 =
SX IN"3 0.0719 4.5182 - a =
5 Ix IN"4 0.5801 10.7178 - 15.1801 .'-éJ - @
SX IN3 0.3427 3.7804 - ' £l=
Ix IN"4 0.5801 11.7200 - 5| =
16.1823 o A
3 Sx IN"3 0.3427 5.2952 - T
Ix IN"4 0.0655 15.6790 -
16.1828
4 Sx IN“3 0.0719 8.0691 - ]
5 Ix_IN"4 0.5801 - 25.1317 20,5940 5
SX IN“3 0.3427 - 6.8663 e
6 [x IN"4 0.5801 - 25.1317 20 5940 o2
Sx IN"3 0.3427 — 7.8598 olF
-~ - ot 3
” Ix_IN"4 0.0655 29.0902 20 5940 =E
Sx IN"3 0.0719 - 10.0284 935
PS _ Ylo
8 Ix IN"4 0.0655 29.0902 29 5940 182
Sx IN"3 0.0719 - 10.7842 3]
Ta
Ix IN"4 0.0655 - 29.0902
29.5940 o
9 SX IN"3 0.0719 - 11.9135 el S
ofgle
NOTE: TO OBTAIN TOTAL COMBINED ‘I' VALUES 2%
EAalum = 1077 vl «
EWOOD = 1,300,000 PSI P
Engr: JAVAD AHMAD
CvIL
FLA PE # 70592
CAN. 3538
A 4 Mt
T B
a‘jﬁ drawing no.
. .
sheet 9 of 12/




#10 X 2-1/2" SCREWS

AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX,

6-9/16" MULLION—*

|

MULLION TYPE|GROUP NO.

4-9/16"

4

6-9/16"

7

—4-9/16" MULLION

FLEXIFRAME /ARCH/SPRINGLINE TO FW_GLIDING DOOR

HORIZONTAL JOIN

#10 X 2-1/2" SCREWS

J‘x_\]{{_

AT 5" FROM HEAD/SILL
ND 16" 0.C. MAX.
///// :; l-6—9/16" MULLION

b

HORIZONTAL JOIN

MULLION TYPE|GROUP NO.

4-9/16"

4

6-9/16"

9

-4-9/16" MULLION

FLEXIFRAME /ARCH /SPRINGLINE TO FW GUIDING DOOR

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

‘—6—9/1 6" MULLION

T

—

MULLION TYPE|GROUP NO.

4-9/16"

4

6-9/16"

8

'—4-9/16" MULLION

PSCA PICTURE WDW TO FW GLIDING DOOR

HORIZONTAL JOIN

#10 X 2-1/2" SCREWS

6-9/16"

-AT 5" FROM HEAD/SILL
AND 167

0.C. MAX.

MULLION—I

i@j ,

N

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

6-9/16" MULLION W

J

[MULLION TYPE GROUP NO.
| 4-9/16" 3
T6-9/16" 5

—4-9/16" MULLION

FLEXIFRAME /ARCH/SPRINGLINE TO FWH DOOR

HORIZONTAL JOIN

#10 X 2-1/2" SCREWS

AT 5" FROM HEAD/SILL
ND 16" O.C. MAX.
|

U

! [ -

I

{76—9/1 6" MULLION

HORIZONTAL JOIN
FLEXIFRAME /ARCH/SPRINGLINE TO FWH_DOOR

MULLION TYPE

GROUP NO.

4-9/16"

3

6-9/16"

5

L-4-9/16" MULLION

FLEXIFRAME /ARCH/SPRINGLINE TQO FWO DOOR

HORIZONTAL JOIN

#10 X 2-1/2" SCREWS

AT 5" FROM HEAD/SILL
ND 16" Q.C. MAX.
|
Z‘////’;

(6—9/16" M

=

—~

N\ 4'\‘<._.

ULLION

—4-9/16" MULLION

#10 X 2-1/2" SCREWS
AT 5" FROM HEAD/SILL
AND 16" 0.C. MAX.

(6—9/16" MULLION

B!

‘%_

—4-9/16" MULLION

PSCA PICTURE WDW TO FWH DOOR

HORIZONTAL JOIN

SEE SHEET 9 FOR ‘I’ VALUES OF VARIOUS GROUPS

no- e =
) [?‘L//’_/ T -
' T MULLION TYPE|GROUP NO. E
I R 4-9/16" 3
BN 6-9/16" 8
1

MULLION TYPE

GROUP NO.

4-9/16"

3

6-9/16"

8

'—4-9/16" MULLION

FLEXIFRAME /ARCH /SPRINGLINE TQ FWO DOOR

HORIZONTAL JOIN

#10 X 2-1/2" SCREWS

—<——d

AT 5" FROM HEAD/SILL
AND 16" O.C. MAX.

l—6—9/16" M

A

ULLION

GROUP_NO. &

MULLION TYPE
4-9/18" 3
6-9/16" 7

—4-9/16" MULLION
PSCA PICTURE WDW TO FWO DOOR

Engr: JAVAD AHMAD
CIVIL
FLA. PE # 70592
CAN. 3538

M‘%4Wm

HORIZONTAL JOIN

MULLION TYPE

GROUP_NO.

4-9/16"

3

5-9/16"

3

f
Cc

MULLION\M05-01AC )

a

|

FAX. (305) 262-6978

N

AL-FAROOQ CORPORATIO

ENGINEERS & PRODUCT DEVELOPMENT

{ MIAMI, FLORIDA 33174

1235 S.W. 87 AVE
TEL. (305) 264-8100

|
el

ANDERSEN CORPORATION

|

100 FOURTH AVE. NORTH
BAYPORT, MN. 55003-1096

TEL. (800) 426—7691

®

NDERSEN

)

(LAMINATED VENEERED LUMBER MULLION SYSTEM]

|

)

NO CHANGE THIS SHEET

by [description

no| dafe
A |04.16.10

(revisions:

|

dr. by: HamiD
hk. by:

h
¢

|

drawing no.
M0O5-01

{sheet 100f 12,




ADDL. BRACKET REQD.

FOR CONC./MASONRY INSTALLATIONS ONLY
WITH (2) ANCHORS TYPE 'B’

IN OUTER 2 HOLES OF BRACKET

VERT. MULL
HEAD CONNECTION

HORIZ. MULL
JAMB_CONNECTION

MULLION
MULLION

ADDL. BRACKET REQD.

FOR CONC./MASONRY INSTALLATIONS ONLY
WITH (2) ANCHORS TYPE ‘B’

IN OUTER 2 HOLES OF BRACKET

VERT. MULL
SILL CONNECTION

HEAD/SILL BRACKET
(1) REQD. AT MULL END FOR WOOD & METAL STRUCTURES

AND
COVER

(2) REQD. AT MULL END FOR CONC./MASONRY STRUCTURES

HEAD/SILL BRACKET

(1) REQD. AT MULL END FOR WOOD & METAL STRUCTURES

#8 X 1" SCREWS
8 PER PLATE

ﬂ\wmca ANCHORS
TYPE A & C (5) PER BRACKET
TYPICAL ANCHORS
TYPE 'B' (2) PER BRACKET

TYPICAL ANCHORS
TYPE 'B' (2) PER BRACKET

\TYPICAL ANCHORS

TYPE A & C (5) PER BRACKET

|
|
|
\[ #8 X 17 SCREWS

AN 8 PER PLATE

!7(2) REQD. AT MULL END FOR CONC./MASONRY STRUCTURES

4—-9/16” MULLION
6—-9/16” MULLION

CONNECTION DETAIL

TYPICAL ANCHORS:

1.200

4.500 I

1000
0000

078 — =

3.500

o,

HEAD/SILL BRACKET

14 GA. ZINC PLATED STEEL

L—‘mso—»

SEE ELEV. FOR SPACING

TYPE 'A'— 1/4" DIA, ULTRACON BY 'ELCQ' (Fu=177 KSI, Fy=155 KS)
INTO 2BY WQOD BUCKS OR WOOD STRUCTURES
1-3/8" MIN. PENETRATION INTO WOOD

TYPE ‘B~ 1/4" DIA. ULTRACON BY 'ELCO' (Fu=177 KSI, Fy=155 KSI)

THRU 1BY BUCKS INTO CONC. OR MASONRY
1-3/8" MIN. EMBED INTO CONC. OR MASONRY

DIRECTLY INTO CONC. OR MASONRY
1—1/4" MIN. EMBED INTO CONC. OR MASONRY

TYPE 'C'— #12 SMS OR SELF DRILLING SCREWS (GRADE 2 CRS)
INTO METAL STRUCTURES

12 GA. MIN. (Fy = 36 KSI MIN.)

1/8" THK. MIN. (6063-T5 MIN.)

(STEEL IN CONTACT WITH ALUMINUM TO BE PLATED OR

STEEL

ALUMINUM :

Bl

TYPICAL EDGE DISTANCE
INTO CONCRETE AND MASONRY = 2" MIN.

INTO WOOD STRUCTURE =

1" MIN.

INTO METAL STRUCTURE = 3/4" MIN.

ANCHOR

ISTAN

INTO CONCRETE AND MASONRY = 3" MIN.
INTO WOOD STRUCTURE = 3/4" MIN.
INTO METAL STRUCTURE = 3/4" MIN.

CONCRETE AT HEAD, SILL OR JAMBS f'c = 3000 PSI MIN.
C-90 HOLLOW/FILLED BLOCK AT JAMBS f'm = 2000 PSI MIN.

PAINTED)

Engr: JAVAD AHMAD
CiviL
FLA. PE §# 70592

a
f
C

'
I

MULLION\MO5~01AC )

ENGINEERS & PRODUCT DEVELOPMENT
FAX. (305) 262-6978

1235 S.W. 87 AVE
MIAML, FLORIDA 33174

TEL. (305) 264-8100

AL-FAROOQ CORPORATION

|

FAX (-)

(800) 426-7691

ANDERSEN CORPORATION

|

100 FOURTH AVE. NORTH
BAYPORT, MN. 55003-1096

TEL.

N

®

NDERSE

(LAMINATED VENEERED LUMBER MULLION SYSTEM|

A

|

)

NO CHANGE THIS SHEET

by [description

A 104.16.10

(revisions:
(no] date

|

08-15-05

=
s
<
T
ES
Fa)
Y
©

Ecale: 1/2" = 1"

dote:

| S )
P
drawing no.

M0O5-01
sheet 110f 12




(O¥10-SON\NOITINA ) (=) xvs  169c-9zv (008) L] 5 v ||
[ 82699z (S0€) XV 00T8-¥9Z (SOE) 131 9601 -£00SS NN ‘1¥0dAVE A O s
D | YLTEE VvAIHOTS ‘TAVIN HIMON "3AY HIMNO4 00l aw o R_u o~
3 S g N
k INIW013A30 Lonaoua  sumanions | | NOLVHOJHOO NISNIANY feevsery e Rt T e © E
m& NOILVHOJHOD DOOUV-TV || [WILSS NOMINK ¥38ANT IIINIA QIWNINVI ) = Saoisian) || S0-si-s0 wwe) |5 = &
N
0 ! =Q
| i
! ,
\“ =
0 | 28 Q8
0 ! 0 WM 2 \
© © J > %Wmmm y'e
© N S5 18 § NN}
i ! % & Wg ,% R
< N ' EE- R E =
w s B MM
d Eades FEE
“
1
b i g o
] : : 8
R g
" WWW
] ; 3
_.v.h._ j IIIIIIIIIIIIIIIIIIIII .MIH_ w
O~
<L 0O Ll i
£58 . © _1
_ « I
: o o |
w T
|
R
o
<+

3 PER SIDE

#8 X 3/4" SCREWS

VERT. MULLION CONNECTION TO HORIZONTAL MULLION




